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RO %= FEIBE K.
a) 6x — (3x2 — (~2x2 4+ (4x2 = 6) —3) — Sx)

b) 9x2 —10x —4 — (4x —3)(2x2 + 5x — 1)

A=x2-3B=1-2x2,C=x3—x+10D&E, RORXEFET L.
a) A—-B-C =

b) C — (B +34) =

¢) A—(B—(C—4)) =

RDBERDAZSTEL L.

a) —a?x(=b)® = b) ax (a?)? x (a?)3 =

) (x*(=x?)(-y)* = d) ab3(a*—5b%) =

e) (—3a2b)? x (—2ab3)? = f) (B3x +4y)* =
g) Bx—4H(Tx—-1) = h) (5x + y)(x + 5y) =

i) (a? + ab + b*)(a® — ab + b?) i) (x2 +3xy — y?)(2x — 5y)

k) (@a+b+c)a®+b%+c?>—bc—ca—ab) =



FHIES K%

ROELQLDERAEHBE L. (B AEDEEBLTEIE—HITBIEERE.]
a) (a+b)(@?*—ab +b?) =a®+ b3 b) (a —b)(a® +ab + b?) =a® - b3

¢) (x+y)?—(x—y)*=4xy

RDBER DR REDHBEE K.

a) 3ab —6ac = b) 2a?b —ab® =

c) x2—x= d) @+b)x—(a+b)y=
e) x2+x—6= f) x2—7x+10=

g) 3x2—18x +27 = h) x2—1lxy +24y? =
i) 25x2 —4 = j) x*+8=

k) x*+x= 1) 3x2-5x -2 =

[E=TH<]



(6] rROBEATO, BERUARDE. 112l a BERETS.

a)
x—2)x3—2x2+4x—8

&= RY =
c)

2x2—x—1)x3 —x

&= RY =

f(x)=x>-3x+1&95.
a) f(x)Zx — 2 TCEI>/cEETDRYZERDK.

b) f(2) DEZSTEL, a) DIERELEE K.

b)

2x2 4+ 3x 4+ 1) 2x*4 4 2x3

B= RY =

d)

x2 4 ax —2a%)x3 —2a%x

B= RY =

x—2)x3 —3x+1

RSDFEREFIBLT, f(x) =x3—x2—2x ERORTE >tz EDRUAERD L.

a) x—1

c) x+1

b) x—3

d) x+2



O] a) x—1, x=2, x+1, x4+20D>5x> -3x2+4DEKB>TLBEDENVA.

b) x3 —3x2 + 4 ZEYDARE L.

RHFERABOT x3 —4x2 + x + 6 #BRHDBRY L.
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x+1 Y+l porar

DEDIZ, BXEDFIHDBLIVERODEREDHNDEICT D ENTES.
RORN%Z, BREAFHDBIUVEROATR EDFDDEICE L.
5x +4

3) x—2

2ﬁ—x+3_
2x+1
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